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CHAPTER9
HALFS & QUARTERS

Ques.1 Colour the ¥ of following picture.
%/ AT H TT 9 |

T T T
TG A

Ques.2 Draw a line to show Y.

%/ 9T TS & TeTu ¥t S -

Ques.3 Which of the following figure shows four equal parts.

frrfeTiad o § shi9 |1 TR s)1EK 9ET bl ST ¥ |
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Ques.4 Match the following figures:
e &

(A) 3/4
B) 1/4
C) 1/2
D) 414

Ques.5 Shade the ¥ of the given figure.
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Ques.6) 250 g+ 2509 + 150 g + = 1000 g.
Ruo UMH + 1o P + 4o UH + = RoooUH

Ques.7 The collection is divided into 4 equal parts. Encircled portion
represents.

FETAREd 99 R SeR 9§ faeiieid € fafesd 9m < 3o |

O © 0 O
o 0 0 g

A) 1 B) 3 C) 1
3 4 2
Ques.8 Fill in the blanks:-
e T 1 |
a) 1kg= g.
g fertmo = um
b) 1m= cm.
RHR=___ UM
c) 1liter = ml.
gefter=___  foefo

Ques.9 There are 20 blocks. %, are green. How many are not green?

R0 fesai 7/ 3/% & fe=u ¥ [foham fTesw X @ € 2

Ques.10 Three fourth of the match was over when | switched on TV. What
part of the match is left?
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ST&l H Soaifo TR af 3/% e WeH &l IRl 2T | Wl ol fohaeT ST1T 38 T
o7 ?

Ques.11 From 12 boys in a school, % went for swimming. How many
children are left in the class? .
%R BT Sl HelT H /I B Xkl & [T T T | Tohe BT Hell H 91N @
T ?

Ques.12 Complete the diagram...
T T R |

Ques.13 One can hold 500 ml of water. How many cans can be required to
hold 2 liter of water. o
T ST H Yoo THEA U 3T & | R ol Ul UHT foheT anfeedt | 3a 2

Ques.14 Balance the weight with the help of following.
Frteiad & Terar @ asTH ot SReR & |

AA
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Ques.15 Complete the following:-

FATeIRad I &t o)
a) 250 ml + 250 ml + =1 liter.
uo fgett + Ruo et + =2 7R |
b) 500 ml + + =1 liter.
500 + + = Tl |
c) 250 ml + 250 ml + + 250 ml =1 liter.
uo et + uo feft +__ uo el = ¢ #teX |
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ANSWERS
Ans.1 Students will do themselves.
B @ HA |
Ans.2 Do your self.
BH @ H |
Ans.3 Figure C
CER]
Ans.4 A-C, B-A, C-D, D - B.
R@RENIE@ ¥ (@
Ans.5 Do your self.
BE W F |
Ans.6 350 g.
4o U
ANs.7 Y4 (A).
/¥ (37)
Ans.8 1000, 100, 1000.
000, %00, %000
Ans.9 ¥ are not green.
/¥ 9T
Ans.10 ¥
V¥
Ans.11 %, 6 boys.
/R, & ISh
Ans.12 Do your self.
B @ H |
Ans.13 4 cans
¥ T2l
Ans.14 2 kg + 1 kg.
R ?m'_l;ﬁo, +? %Fl;ﬁo
Ans.15
a) 500 ml.
Koo ﬁ:[Gﬁo
b) 250 ml, 250ml.
4o figetio uo fHedto
c) 250 ml.
d) R\ o Tetlo
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